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General Knowledge

The head of the State Disaster
Management Authority is-

A. Chief Minister
B. Home Minister
C. Disaster Management Minister
D. Departmental Minister

In which country the World Peace
Forum 2022 was organized recently?
A. China

C. Australia

B. France

D. Iltaly

Which king is considered to be the
founder of Kawardha Princely State?
A. Raja Mahabali Singh

B. Raja Raghu ji

C. Raja Bahadur Singh

D. Raja Dharmaraj Singh

How many medals won by India in

PART -1

Boxing Tournament Ellorda Cup 2022?

A 12
C. 14

B. 10
D. 8

Where is Gandheshwar Temple?
A. Raipur

B. Dantewada
C. Sirpur
D

. Bastar

BT IDREFil

g1 ol ¥ forg srifa d=r 2022 st SRS
forer 237 & fomam T 2

A. =4
C. efreferan

B. %9
D. 3T

ol fEmed o dxemdeh forg TSI sl 4T
ST 27

AEIRHC AT
T T St

TrlT ST e
TSt gt fi

STTRERT ZATHE TATST T 2022 H A o
fere aeh Sfid?

A 12
C. 14

TR HfeT et 87
A. TR

O o w>

B. 10
D. 8

B.
C. fax
D
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Which statement is false about ‘Urla
Industrial Development Center’?

A. ltisthe largest in area

B. This is the first Industrial
Development Center in Chhattisgarh

C. Adryport has been established here

D. The largest number of industries
here

To which country, facing severe
economic crisis, India has provided
more than 44,000 tonnes of urea under a
loan facility?

A. Bangladesh
B. Rwanda
C. Ukraine
D. Sri Lanka

Which drug is associated with the tea or
coffee plant source?

A. Camphor
B. Caffeine
C. Thorn Apple
D. Opium Poppy

Under which ‘Factory Act’ for the first
time the safety of women laborers was
ensured?

A. Indian Factories Act-1881
B. Indian Factories Act-1891
C. Indian Factories Act-1911
D. Indian Factories Act-1926

“ITAT I forehTd by’ o ST i @1
FI FGF 27

A. IE & H T T8T R

B. IE SIEIE T IUH ATenfies foshma
F3 2

C. 6T U “SIEUIE” shT TTUHT 3T AT 2|

D. gl 3l ht §ean waiferen 2

R 7 ¥ STTTeR Hehe T AT L T8
fe® <=1 3T 0T Glar o d8d 44,000 7 &
e T TE T 22

A. IR

B. @feT
. TR

<

C
D. sficient

T IT BT oh N o B § i ©Y a7
ST E?

A. I

[\

B. &
C. Hieqrad
D. 3ThI| urEdr

Teelt IR o ‘T At & ded
Al HoTell shi Gl Gferd =i 32
A. TR ST AT fm-1881
B. VR HR@MT AfIm-1891
C. IR HREMT ATafFRE-1911
D. YRR SR@HT ARII9-1926
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10.

11.

12.

13.

14.

15.

How many total numbers of biodiversity
hotspots are there in the world?

A. 36 B. 32
C. 28 D. 18

On which river Govind Ballabh Pant
Sagar is situated?

A. Sonbhadra
C. Gomti

B. Chambal
D. Ghagra

Where is Amrit Dhara waterfall
located?

A. Koriya
B. Ambikapur
C. Balrampur
D. Surajpur

Since when the “Raut Nach Mahotsav ”
folk dance festival is organized in

Bilaspur?
A. 1973
C. 1976

B. 1974
D. 1978

When was Teejan Bai, the famous
Pandwani artist of Chhattisgarh honored
with Padma Vibhushan?

A. 2017 B. 2018
C. 2019 D. 2020

Under whose chairmanship ‘Swaraj
Dal’ was formed in Chhattisgarh?

A. Seth Govind Das

B. Pt. Ravishankar Shukla
C. Pt. Sundarlal Sharma
D. Shyamlal Som

10.

11.

12.

13.

14.

15.

fore S forfereran geedie i dwea forat
27

A. 36 B. 32

C. 28 D. 18

Tifelg sreety Ud AR fohe 7et ot feorg 22
A. EHYE B. T&d

C. Tt D. =T

ST SITIITA HeT e 22

A. HIfET

B. 3iferspgy

C. T

D. T

forATE 7 TS AT HRlcda” Tk Ied
IcHd T IS el § FoRaT ST @1 27
A. 1973 B. 1974

C. 1976 D. 1978

BUATETG hl GAHEE G FeATehTE ST
TS 1 UGH TorvoT & shel TFATI FohalT TTaT?
A. 2017 B. 2018

C. 2019 D. 2020

BTG | foharehl 3Teeqd § TS get” 1
T ToRaT TRIT 92

A. U3 Mo g™

B. . TforisR o

C. 9. G-t Tl

D. WA €
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16.

17.

18.

19.

20.

Who participates in the meeting of
Cabinet?

(1)  Prime Minister

(i) Cabinet Ministers

(i) State Ministers

(iv) Deputy Ministers

A. (i)

B. (i), (i)

C. (i), (i), (iii)

D. (i), (i), (iii), (iv)

Fungus are-
A. Plant
C. Protozoan

B. Animal
D. Saprophytes

Where is the Tribal Research and
Training Institute located in

Chhattisgarh?
A. Raipur B. Bhilai
C. Jagdalpur D. Korba

In Chhattisgarh, which region is rich in
Iron-ore?

B. Bailadila
D. Maikal

A. Satpura
C. Chirmiri

In which city Environment Ministry
Organized Hariyali Mahotsav on 8"
July 2022?

A. Gandhinagar
C. New Delhi

B. Nagpur
D. Mumbai

16.

17.

18.

20.

aferuee Y I3 | shiT THT oIar 82
(i) guH A=

(i) hfere Tt

(i) T Gt

(iv) STa=ft

A. (i)

B. (i), (ii)

C. (i), (i), (iii)

D. (i), (ii), (iii), (iv)

Faeh BIdT 2-

A. T_Y B. Siq

C. YIRS D. gashet
SUTETG | S ST Td SiRreor
G Rl ferd 22

A. TR B. frams

C. SEAR D. &RaT

STETE H I AT &7 W15 3T | Ted
&7

A. FaqeT B. SEra

c. fofad D. #ehret

8 STCATE 2022 7! foher TTET H T eor HaAter
7 gfTett HETcHa ST STRISH foRaT om?
A. e B. AT

C. 3 fowett D. Heig
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21.

22.

23.

24.

25.

Which of the following Acts is
popularly known as Umbrella
Legislation?

A. The Water (Prevention & Control of
Pollution) Act, 1974

B. The Air (Prevention and Control of
Pollution) Act, 1981

C. The Factories Act, 1948

D. The Environment (Protection) Act,
1986

When was gender budgeting introduced
in India?

A. 2006-2007
C. 2007-2008

B. 2005-2006
D. 2008-2009

Monkeypox is a-

A. Bacterial Disease
B. A fungal disease
C. A viral disease
D

. An Animal

What was the population of
Chhattisgarh according to 2011 census?

A. 2.56 crore B. 3.00 crore

C. 3.25crore D. None of these

Which among the following temples of
India is known as Black Pagoda?

A. Sun Temple, Konark

w

Brihadeshwara Temple, Tanjore

O

Lord Jagannath Temple, Puri

©

Meenakshi Temple, Madurai

21.

23.

24.

et 4 @ i a1 A= steier
faem o 719 9 uitree 27

A. ST (SEOT 36T ek HIT frron)
AtEw, 1974

B. o (SIEUT oAl ke S forefron)
Hfufgm, 1981

C. FHEHT AT, 1948
D. TiaweT (dXen) Afafm, 1986

STet ST YRa § TRE ohY TS ©:

A. 2006-2007
C. 2007-2008

B. 2005-2006
D. 2008-2009

2011 3T SFRTUMT o STER BTG I
STEE foheT oft?
A 2563
C. 325Ig

B. 3.00 %S
D. 0 9 &hIE 7

qd & Fefafiga 3 9 forg d@fet ot saien
YTTIET o 919 o STHET SITdr 22

A. T Hfe, Hiomeh
B. SEeE A, dSIR
C. W& ST HiT, 7
D. #ieft #fex, 7w
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26. Chaker Dam is situated in? 26.  <ToRT SITYT el fRord 27

A. Kabeerdham A. FEaH

B. Bilaspur B. feremadx

C. Durg C. g

D. Bastar D. s&iX

27.  Considering the concept of carbon 27.  HTeH shige St ST I forem -
credit-
. ) SaT qiEde ) gT RIS |l 1 U

I) Isa part of Kyoto treaty on climate - %l" ®
change.

1) Are certificates issued to those 11) 3 3T BT ST foRT T SoreT & i
countries who emits less green 1 2rg 19T & Icgsi ! 9 Hid 2l
house gasses. . :

I11) Global Warming Potential 1) . e )

(GWP) is a index under Kyoto R (h.gsw d.) Tk 3o 2
Protocol. )
A. F T &
A. Statement | is correct
_ B. & I Hel &

B. Statement Il is correct

C. Statement Il is correct C. U Il &t &

D. All three statements are correct D. i s gt 8l

28.  Who is the constitutional and executive 28.  eTETE I HAHTe Ta HdTIereR! @

head of the state of Chhattisgarh? 2T 8-

A. Chief Minister A. TeIuHA

B. Governor B. USIUTT

C. Chief Secretary C. qerHfE

D. Principal Secretary D. w@ af<a

SPACE FOR ROUGH WORK / T &1 & forar wrire
202092-YIOV-REC-KTB 8 Set- A



29. What is correct about Guillotine in 29.

Parliamentary procedure?

A. Itisaprocedure to introduce a bill
in the house

B. Itisa procedure to send a bill to the
standing committee of the house

C. Itisaprocedure to close the debate
on the bill

D. Itisa procedure to start debate on a
bill

30.  Which of the following is a voluntary 30.

tax levied by Gram-Panchayats?

A. Wealth tax on lands or buildings or
both

B. Tax on bullock cart or tanga stand

C. Tax on registration of animals sold
in any market or places under
panchayats

D. “Light-tax’ on the provision of
lighting by the Panchayat

31.  The kings of which dynasty among the 31.

following constructed the Osian temples
of Rajasthan?

A. Solankis

B. Pratihara
C. Chauhanas
D

. Guhila

THe gishar | Freid T o fosar 7 a9t o=
27

A. I8 ¥ H fortiash qUERud i sl T
BIERIN

B. IE e fordren ol Hed <l womft afufa
% qTE U Y U gfshar @

C. I% faeas W o8d o< & il Th
ufsram ®

D. I Ha H ferre w959 Y& A
T YR

fafafaa & @ 9 91 ™ v=mdr g forn
ST ST Ufoaeh L 27

A, IR AT ST AT AT O AR 3R
B. TS AT AT EUE G

C. Y= o 3T foret ST I T ot
oIl T ITAT o TSTEG AT 0 L

D. UITd R YhTeT hY SFG&AT shl ST O¢
“YRTIT-RT

frafafaa 9 o forg 591 3 Temen 4
TS o 3nfeRr Al st fwior saman
oqT?

A. Tierhl
B. ukier”
C. 9r&H
D. Tfear
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32. Arrange the following chronologically 32, fymaferfiad T STeh TTIAT I o TR T
on the basis of their year of ELCEE S
establishment- o 1) S TER
1) Bombay Association 5
2) Madras Mahajan Sabha ) 'H[; TRTSH T
3) Indian Association 3) 3' SARELEE
4) Indian League 4) dfemem
A 1234 B. 2,314 A 1,234 B. 2,314
C. 3,4,2,1 D. 1,4,3,2 C. 3421 D. 1,432
33.  In which of these years was the Forest 33. g o form e o weror srferfem o e
Conservation Act amended? ERIRIEIIV
A. 1978 B. 1988 A. 1978 B. 1988
C. 1963 D. 1952 C. 1963 D. 1952
34. How much percentage of total area of 34, eftaTe o Reud Uedie e eI STV
the state is occupied by the national park T T &Rt TS o it &l T TohdHT
and sanctuaries located in Chhattisgarh? gfeeTd 22
A. 7.91% B. 6.91% A. 7.91% B. 6.91%
C. 5.91% D. 4.91% C. 591% D. 4.91%
35. Which dance in Chhattisgarh is also 35. gfteTe H foRd Te o QT = o A § ot
known as Parrot Dance? STHT STt 27
A. Suwa Nach A. gardm=
B. Pandavani B. UgaHl
C. Kaksar C. hREr
D. Saila D. &
36. The zero mile stone is located in which 36. ST ATSe T R o foher Ire  feerg 22
i ia?
city of India” A9
A. Bhopal
B. Nagpur B. >
C. Jabalpur C. S
D. Indore D. &R
SPACE FOR ROUGH WORK / T @t % forar e
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37.  Under which scheme loans are made
available to unmarried, widows and
divorced women in the age group of

35 to 45 to establish self employment
at easy loan rates?

A. Saksham Yojana

B. Swavlamban Yojana

C. Mukhyamantri Rajya Shahari
Ajivika Mission Yojana

D. Sukhad Sahara Yojana

38. Which one of the following is the
correct chronology of the wars fought in
India in the 18" century?

A. Battle of Wandiwash- Battle of
Buxar-Battle of Amber-Battle of
Plassey

B. Battle of Amber-Battle of Plassey-
Battle of Wandiwash-Battle of
Buxar

C. Battle of Wandiwash-Battle of
Plassey-Battle of Amber-Battle of
Buxar

D. Battle of Amber-Battle of Buxar-
Battle of Wandiwash-Battle of
Plassey

39. Sigur Plateau is situated in which of the
following state of India?

A. Karnataka

B. Kerala

C. Andhra Pradesh
D. Tamil Nadu

37.  fope AIST o 3F=aTid 35§ 45 HTg EHE hl
Ao, foreram o TeTshsyeT Afgest &
TSR T L B HTE 30T &L W

SRUT IUASY T STTAT 27

A
B.
C.

D.

g ST
(SIENESE RIS E

qewAT T TTEdt STrsiifersht e
ST

GEE FENT FSHT

38. 18 ff wal # vRA H &g T L&l A
feferiiaa o Tt Fietshy i a1 22

A

AT I
EEN I
EEN I
T e

39. R Yo WA o FHIRad # & ford a1
g feoa 22

A.
B.
C. Ty vew
D.

FAIeh
A

GRS

AV
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40.

41.

42.

43.

In which month is the ‘Goncha Festival’
organized in Jagdalpur?

A. Aashadh B. Sawan
C. Bhado D. Paush
Which among the following is 41.

incorrectly matched?

A. Thyagaraja Festival — Andhra
Pradesh and Tamil Nadu

B. Mahamastakabhisheka — Andhra
Pradesh

C. Pooram — Kerala
D. Teej — Rajasthan

When demand of goods is less and 42.

supply is plentiful then-

I) Buyer is in good position than
seller.

I1) The Market is known as Buyer’s
market.

Statement | is correct
Statement |1 is correct
Both are correct

OO0 ®p

Both are wrong

According to the constitution what is the 43.

tenure of Prime Minister?
A. 5years

B. Up to the term of House of the
people

C. Up to the support of majority of
House of the people

D. None of the above

40.

STGAYL H e vel” ol SRS foh8 Fe
o 2T &7

A. TG B. @
C. wmar D. 9w
FrefeRaa # & S TTerd gHferd 82

A. TS HRICHT — 378 92T 31 aftret
e

B. HETHEIHIMY — 3T ST
C. -

D. S — TS

St fopett o <Y | A 2t & e STgfd

1fer et 21 s

1) ok ol qorT 7 st siga et
BTl

1) UH TSR shl shaT TSI ad 2l

A. FIT]TE R
B. e I Gl &
C. ST e Tl 2
D. &M % TTd 8

I 3 STTET TG Holl T R T
27

L

B. Qe shi eIl doh

C. AIHHTH SgHd ol qW doh

D. e § &
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44,

45.

46.

47.

Lenses used in the spectacles to treat
myopic person-

A. Convex Lens
B. Concave Lens
C. Plane-convex Lens

D. Plane-Concave Lens

What is the estimated percentage growth
in the industry sector in the year 2021-
22 at a constant rate in the state of
Chhattisgarh?

A. 14.55%
C. 15.44%

B. 15.55%
D. 14.44%

What was the theme of National
Doctor’s Day, 1 July 2022?

A. Covid and Health
B. Family Doctors on the front line
C. Covid Protector

D. “Zero tolerance to violence against
doctors and clinical establishment”.

Which one among the following Indian
rivers originates in Maharashtra and
flows through Karnataka and Andhra
Pradesh and drains into the Bay of
Bengal in the Andhra Coast?

A. Godavari B. Krishna

C. Mahanadi D. Narmada

44,

45.

46.

47.

frene g arw & difea safer o =g o
fopaT ST 2-

A. ITd "

B. aqd ¥

C. THqdd oid
D. THaW Hadd oid

BTG TsT | feom wg way 2021-22

ST &t & gfea fora wfomTa sgafia 22
A. 14.55% B. 15.55%
C. 15.44% D. 14.44%

TS Feferceh foaw, 1 oS 2022 3t &
oftey off?

3

ffafaa o 9 @i o 7 T |
fehetdl ® ST shleeh 37T 3178 TS9T § BT
& gU 3Ty de § st oY @l | iRt 22

A. TR B. M

C. mEmer D. Jder
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202092-YIOV-REC-KTB

13

Set- A



48.  Giffen goods are :- 48. FrhT aEqU T @ :-
A. nga_nd for Goods increases as the A %ﬂﬁq@qﬁzwqﬁ%ﬁa@aﬁ%
price increases .
B. Demand for Goods decreases as the B. fSrhl e gfee T AT e S 2
price increases C. el ¥ e 3t 3 B o
C. Positive income effect generates due
to increase in price of these goods HP ST T3
D. Price of these goods never increases D. el vft gt e 1 Bl 2
49.  Which of these was the “First Capital” 49. zom @ Bflag ST U ormgfwi i T
of the Kalachuris in the State of TSI SR T ofi?
Chhattisgarh? areh
A. Pali B. Tumman A B- g
C. Ratanpur D. Sirpur C. TW D. e
50.  Moderator used in Nuclear Reactor- 50. ooy fRueex § Haeh o €9 H SR fRAT St
A. H,0 &
H,O
B. D,O
2 B. D,0
C. Liquid Nitrogen C. ST
D. Liquid Hydrogen D. 39 8RS
SPACE FOR ROUGH WORK / T @t % forar e
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51.

52.

53.

PART-II

Physics

A Plano — convex lens of crown glass is
kept on a plane plate of flint glass and
two drops of sassafras oil are inserted in
between them in place of air, then the
Newton’s rings-

A. Will contract inwards

B. Will expands outwards

C. Will contract inwards and all the
dark rings will become bright and
bright rings will become dark

D. Will contract inwards and the centre
will become bright instead of black

Consider a 2-dimensional circular
region in x-y plane with its center at the
origin and radius R. Consider a function

f(x,y) =k(x? +y?).

This can be a solution of Laplace
equation for-

A. Some positive values of k

B. Some negative values of k
C. Some non-zero values of k
D. kequal to zero

The gravitational self-energy of a solid
sphere of mass M and radius R is-

A. 2
Zero B. _36M
5R
C _om? _GM
2R "R

51.

52.

53.

WiferehT vIer

fUcTue i sl WIE T ShTS Shisl ST FHd-
3T T TEHL Ik sl A o T T
HTETSHI dt 2l 3T 33 STai T e Jerd-

A. e R faspe @
B. STel I ST herd 7

C. U AR fiped & qum avt 7w
g dg 9 gl 7 ST A B A ®

D. 3T AR [HFed § T e 3TaTH
T U T &1 ST &

X-y O H Ueh 23T} TR & T forem
o TorerehT g e fefg 37T foream R W81 T
o F(X,y) = k(X% +y?) WRERH

T 3T O Toheeh foTu et wefiehor
T B Tkl 27

A. k& foreft emTenss o o fag
B. k o fohell Hurenss 0T o fag
C. k3 fordll T ¥=r 7 % foTg
D. kSR 3 o fog

A M 3R 541 R & ek 319 et hi
Tl TSl &
A. 2
N g, - 2CM
= 5R
¢ _om? GM
2R " R
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54,

55.

56.

S7.

The distance of object and a real image,
measured from the focus of a concave
mirror are a and b respectively. Then-

A. f=ab B. f=al/b

C. t-a2/p2 D.f2=ab

%
The value of @%-da on a spherical
r

surface forr =R is-

A. 4mr? B. 47

C. Zero D. Infinity

% -
Vx B =pgl is called-

A. Ampere’s circuital law
B. Kirchhoff’s law

C. Biot Savart Law

D. Lorentz Force

Using Dirac Delta functions

a) any linear charge distribution can be
written as a volume charge
distribution

b) any discrete charge distribution can
be written as a volume charge
distribution

c) any volume charge distribution can
be written as a discrete charge
distribution

d) any surface charge distribution can
be written as a linear charge
distribution.

A. (a)and (b)
C. Only (a)

B. (a) and (c)
D. (b) and (d)

54,

55.

56.

S7.

T A ST o Bl § T o] Uaf
Wﬁ%ﬂﬁﬁﬁﬂﬁﬁwm a 3R
b Bl -
A. f=ab

C. f=a2/p?

B. f=alb
D.f2=ab

_)
%ﬁﬁﬁmgﬂ:quﬁ%da$MW
r
-
A 4nr? B. 4

C. I D. 3d

Vx B = gl el -

A. TR ST uftay e

B. forei® =t fam

C. e arad & fam

D. i e

fetTeh Swet hareT T SUFNT L

a) TRl ofY \ger =mst forawor 61 31rras
3T foreor o &9 | fora i gt 2|

b) fereft oft farferes sTrareT foramor =t et
STTaT forawer 3 w9 1 fora S Tkt 2|

c) Toreft oft 3tmera srmarer ferawor = fafers
STaT foraRer 3 w9 | foram ST gk 2

d) Toret off g smmareT forawor 1 ifgeh stmae
feraor o &9 o for@ i Tk 2

A. (a)T9T(b)
C. Fad (a)

B. (a) AT (c)

D. (b) T (d)
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58.

59.

60.

61.

- . - =
If a isaconstant vector, r x a is-

A. Solenoidal
B. Irrotational
C. Both irrotational and solenoidal

D. Neither irrotational nor solenoidal

The thermodynamic probability of a
system in equilibrium is-

A. Maximum and less than one
B. Minimum and less than one
C. Maximum and greater than one

D. Minimum and greater than one

A heavy symmetrical top is rotating
about its own axis of symmetry (Z-axis).
If 1, 1y,1; are principal moment of

inertia along X,Y,Z axes respectively,
then

A ly=lg, 1=l

B. Iy=l, Ix#ly
C.oly=ly, Ix#1,

D. Ix;tly;tlz

In any Bohr orbit of the hydrogen atom,
the ratio of Kinetic energy to the
potential energy of the electron is-

A. % B.2
C. —% D. -2

58.

59.

60.

61.

Teh W WH{HA g 3o T oh R e
(Z-3787) o U1: O o T 31 A1

Iy, Iy, |, SFRT: XY, Z Sl ok SFgfest
T STged AT €, l-

ly =1z, Iy =1y

ly =1z, Iy =1y

I =1y, Iy # 1,

o o w >

Iy =1y =1,

BTSEISH TRHTY 3 foheft S shedt  gotde
o TTferet St ST fReurfast St ot St 2-

AL B.2
¢ - D. -2
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62.  For a non-conducting uniformly charged 62.  wHEHM SATERTT R AT et o et
sphere of radius R, which one of the

following plots show the variation of ohg | gl r o WTer forega &t shi efterar E i
electric field intensity E with distance r TiereieT b @i Ferror fet o & fof 7k 5107
from the center? fopam ST wreRaT 82
A A
E —\- £ —\_
R R
B. B.
j i
_ : a a
C. C.
R R
D. D.
- - .
E £ 5
R R

63.  Work function of a metal is 2.51 eV. It’s 63. ws %IT@%TWWZSI eV 2, 3Hh dgadl

threshold frequency is- maﬁ-gﬁTﬁ

A. 5.9x10Mcycles/s A 5ox10%TFA,
B. 6.5x10Mcycles/s B. 65x10" =,
C. 9.4x10Mcycles/s C. 9.4x10% =R,
D. 6.08x10M"cycles/s D. 6.08x10M =/,
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64.  What will be the ratio of de-Broglie
wave lengths of proton and o - particle
of same energy?

A 2:1

=N

B. 1
C. 4:
D. 1

S

65. A linear dielectric has a small
polarization in z-direction everywhere.
The dipole moments of individual
molecules are, by and large-

A. in z-direction if the material is polar
and distributed in different
directions if it is non polar

B. in z-direction if the material is
nonpolar and is distributed in
different directions if it is polar

C. in z-direction independent of
whether the material is polar or
nonpolar

D. isdistributed in different directions
independent of whether the material
is polar or nonpolar.

66.  During the mean life of a radioactive
element, the fraction that disintegrates
is-

€
1
€

O
@
I

64.

65.

66.

T sl oh IS qAT 0, -h01 o -t
T T STAT AT STT?

2:1

1:2

4:1

1:4

O 0o w >

U {Raeh TR waTef T z-fomm 7wt

STE WX 5w YTl 8| Tedsh U o

A, aft z-faem & fomnfaa g afe waref
gt 8 W forfir feemett g af
aTef ST 2

B. @t z-foem o fomnféra gt afe waref
gt & W forfvreT fowmrett & g afe
waTef gfer 21

C. &t z-fawm & fomenfira g =g vard
CRCIRERIEIED

D. fafy faemeti # fomenfir g =me vark
gt g1 A gfer)

Y ST AT hi ST F -
Tfered et o org 3T ST e fied & ST @,
z-

A. e
B.

D @D |

C.

|
[N

D.
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67.

68.

69.

70.

The binary equivalent of 25.625 is-
A. 11001.101, B.11010.101,
C. 11001.100, D.11010.110,

Consider the expression
2 1 1

r+d - r= r+2d
m

be written as kd—n, where k is a
r

constant and m and n are respectively.

For, d <<, this can

A. land1 B.1land 2
C. 2and 1 D.2and 3
... 1 R? o
In an LR circuit if — < —— the circuit
LC 42
will be:
A. Oscillatory

B. Dead beat
C. Critically damped
D. Cannot decide from data given

There are two vector fields A and B
such that

$A-di=[B-da
C S

For any closed loop C and the area S
enclosed by it. Then,

A

>|

=V x
B.

>, m

V x

%
-B =0 Everywhere

> >l wl

%
x B = 0Everywhere

67.

68.

69.

70.

25625 T f3 TRy (binary) THT -
A. 11001.101, B.11010.101,
C. 11001.100, D. 11010.110,

2 _1_ 1
r+d r r+2d

2] k$ % & 1 foran ST kT 7, STei k
r

Ffae, d<<r,

Teh fRorien & 3T m 37 n 5T 2,
A 13T1 B. 132
C. 231 D.23R3

2
%WrLRtr&Wfraﬁ,i<R—aﬁ
LC 412
Y-
. AT B
. AT stadfed g
. few o uftfearfa @ qa 7=t fomam s aehar

O w >

fomeft g T C Tt 3w o & S & fore ar
Afeer & A 37 B 30 TR © fh

$A-di=[B-da
C S
dsl:

A

> wl >
o I
R
% >, oy

o
>|
X
(03]
(HD
g
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71.

72.

73.

The equation of a simple harmonic
motion is y =10sin (10 t— g} . The
frequency will be-

A 5

T

T

5
5rn
D. 10n

A particle of energy E is incident on a
potential step of height V, and infinite

width. If E <V, then according to
guantum mechanics-

A. R=0,T=1
B. R=1T=0
C. R=05T=0.5

D. R=0.16,T=0.84

Twelve wires each of resistance r are
joined to form of a cubical skeleton.
Equivalent resistance between opposite
corners of diagonal of cube would be-

A. 5r/6
B. 2r/3
C.r

D. 11r/6

71.

72.

73.

forelt Ttet 3T i sht TR It
y:lOsin(lOt—gj 2, Okt TR
Eliv

A

alo

ola

D. 10xn

Sl E 3T T 0T Vy TS qT 3
=ers o forva @ oX Safad 2T 2
FateH ATeAeh! & AR AR E <V & aI-

AL R=0,T=1
B. R=1T=0
C. R=05T=05
D

R=0.16,T =0.84

T 1 TTE o S I ol T SRR 6
&9 § SISl STaT 21 5 o forepot o foadia
1T o ST T STcRTe TR

A. 5r/6

B. 2r/3

C.r

D. 11r/6
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74.

75.

76.

The efficiency of Carnot engine is 50% 74.

when the temperature of sink is 7°C. To
increase its efficiency to 70%, the
temperature of the sink should be
decreased to-

A. 212K
B. 168K
C. 112K
D. 92K

Losses in optical fibres can be caused by 75.

which of the following?

1) Impurities

2) Microbending

3) Stepped-index operation
The correct answer is-

A. land3
B. 2and 3
C. Only3
D. 1and?2

A charged rod is touched to a small 76.

metallic sphere placed at the origin. This
is done at time t=0. A sensitive field
detector detects the electric fields at
points 10 cm away and 50 cm away at
time t =1 nanosecond.

The expression of Coulomb’s law can
match the measured value.

A. at 50 cm point but not at 10 cm
point

B. at 10 cm point but not at 50 cm
point

C. Dboth at 50 cm point and at 10 cm
point

D. neither at 50 cm point nor at 10 cm
point

T IS 91 shl G&TdT 50% B, 5T ot f&ieh
T AT 7°C 2 3ThT &I 70% A o fefw
ik =T 19 foheaT ST BT

212 K

168 K

112 K

92 K

o w>»

frafaiaa @ @ fore o @ emafesa
TgeR § BT BT 82

1) sryfea

R IEEACIE

3) Wre-3SH A

el IW B-

A, 1313

B. 2313

C. &I 3

D. 132

Teh ST B I 7ot foig W Th 1
eTfcereh et & T9RT fofRaT ST 81 I8 aHe

t =0 R R STl 21 T TRl i

fe et 10 @t T 3T 50 Teft X feigadt o
t =1 AehS T fo=ld &= AT 2

SpeTvel o fm | W AT 6 @ w8
A. 50 Tt foig Tt edferT 10 Tt feig o Tt

B. 10 &t qx ferd fofg vt wifer 50 aeft
fofg 7T et

C. 50 9t fefg ot 3T 10 Geft, ST &
fefgai o

D. T4t 50 &t feig wx A & 10 Feft foig
'k
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77. A certain op-amp has bias currents of 77, ush FAfHa ST TrcfiBRR 1 R

S0pA and 49.3pA. The input offset T 50 pA 3 49.3LA R gqggmq;gg
current is- T B-
A. 49.7uA . 99.3uA
9-Tu B. 99.3u A. 49.7pA B. 99.3uA
C. 50nA D. 700nA C. 50nA D. 700nA
78.  The ratio of intensities of two waves is 78. 1T o6t STl S S 1 9 Bl AR
1 :_9. If these tvv_o waves inte_rf_ere, the ST q0T S TehioT FRdT © df Hedw auT
ratio of the maximum and minimum T deaTaiY ST ST B
intensities is- = ©
A 1:9 A 1:9
B. 9:1 B. 9:1
C. 4:1 C. 4:1
D. 1:4 D. 1:4
79.  Five particles are distributed in two 79.  uie Ut 1 YTeeT et | forafia fora T g
phase cells. The number of macrostates A SFEATHT hl G&AT B -
is-
A. 6 B. 10 é 6 B. 10
. 5
C. 4, 5 5 32 D. -
2
80.  Unit vector perpendicular to 80. —» . . . = . . .
S S A=2i+3]+k IR B=1-j+k &
A=2i+3j+k and B=i-]j+k is- el i, s 2
A iz2jr2k A i_2jiok
3 3
B. 4i-j-s5k B. 4i_j-5k
Va2 Ja2
Ciz2j+2k C. {-2j+2k
V6 6
D. i+2j-4k D. §4+2j-4k
Va1 N
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81.

82.

83.

%
The meaning of DivB =0-

A >
B=0

B. There is no existence of an isolated
pole

%
CurlB=0

D. Current flow is zero

Angular frequency of an one
dimensional simple harmonic oscillator

is 4x10™ radian/second : Zero point
energy of the oscillator is-

A. 13125x10 v
B. 13125x10713ev
C. 1.3125x10%%Vv

D. 1.3125x100%V

Young’s modulus of material is that
stress which-

A. Does not change the length of the
wire

B. Doubles the length of the wire

C. Increases in length of the wire by
50%

D. Decreases the area of cross-section
of the wire to half

81.

82.

83.

DivB =0 ST AT 2-

A S
B=0

B. faafia ga &1 i sl i &

C. N
CurlB=0

D. R YA A 8

T forfiar e STradt qifersr Y shivfir

SR 4x1012 Yfeam/devs B) Aifer

A. 13125x10 %V
B. 13125x107 eV
C. 1.3125x10%vV

D. 13125%x10%%V

ferelT el 3T I ST UTieh I8 ieret
2 frew-

A. dR I TS AYNETad Edl ®
B. ARl TFTE SN &1 STt @
C. AR AwIE T 50% T & St &

D. TR T FIE HT &THA HEHT
SIS G

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

202092-YIOV-REC-KTB

24

Set- A



84.

85.

86.

Consider a closed surface S. The 84.

volume enclosed by it contains a certain
continuous charge distribution. There is
no charge outside this surface. Consider
two quantities X and Y as follows.

X:IEZdrand Y:C'[)E)V-dﬁ)

The first one is a volume integral and
the second one is the surface integral on
the closed surface S. Then, X=Y if the
volume for integration for X is chosen
to be-

A. The volume inside S
B. The volume outside S
C. The whole space

D. None of these

The o -parameter of transistor is 0.99. It 85.

IS used in common emitter circuit. The
maximum current gain will be-

A. 09
0.99
99
198

O O w

Venturimeter works on- 86.

A. Archimede’s principle
B. Stoke’s Law
C. Bernoulli’s Principle

D. Equation of continuity

Tsh & Hag S T o ohl| 3696 g0 o)
A § U fAfad gaq smasr foawor 21 39
HIE % STeL IS A &1 21 Ffe & vt
X 3R Y R fFemem §

X=IE2drand Y =<JSEV~d3

BT Ueh SlTeqH I € 3 gHT Uk sl
HAE WS S W THIhe 2l fH X=Y &
Ffe X ! AT L o =TI ST
2-

.S & it &1 A

. 3 @ i3 T

A
B. S 3 SIT&U I A
C
D

Teh ZISTET T o, -9 0.99 31 38
IAE Icarsieh THYY T ST ST 2
FATRIRaH 9T AT BT

A. 09
B. 0.99
C. 9
D. 198

eriee o e foeata -
A. i frgia

B. I & f=m

C. el o1 fegia

D. et o1 aefieRtr
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87.

88.

When a body is suspended by a spring,
its time period is T. If the spring is
divided into two equal parts and the
body is suspended from one part. Its
time period will be-

AT
2
B. T
2
C. a7
D. T
4

A Straight wire is bent in a circular loop
of radius R. Magnetic field at the center
O due to current | flowing through the
wire is-

R
6]

: I
F0° qutwards normal to the plane

27R
of the loop

I .
M—O(n—l) inwards normal to the
2nR

plane of the loop

I
M—0(1r+1) outwards normal to the
2nR
plane of the loop.

D. Hol

—— inwards normal to the plane of

27R
the loop

87.

88.

STt foret fog ot fisivT g eteshm STt ®, ar
IGeRT ATadeRTe T BIdT gl Ifs R et ar
S AT A farrfra fopa se et fug st
T T Y feifera s e st R) geem
JATeIdeRTA BITI-

A

W

o O
N %'NI—| §I‘_|

ek ©fTeT TR T R IS % U atr ou o
HIST g1 81 TR & YaTfed gi-aett & [
T 35 O T Fehid &7 -
R
0

Mol T % d o ARSI ST hl 3T
2nR ©

”—Ol(n—l) 9 % dA o ARId X
2nR o

&I AR

Hol 1) o ¥ e ¥ rEd AT
27R o
$T 3T

Mol T % d o AR ST T AT
2R ©
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89 \when 92U%® undergoes fission, 0.1% 89 97 U?3® =1 fergue g @ di 36k
of its original mass is changed into TRINeR S| T 0.1% IHolt B aidfdd &

energy. How much energy is released if ST 1 R 92U235 S 3

1 kg of 9,U%® undergoes fission? o ot e
A. 10
9x107+J A 91010,
B. 11
c A0 B. 9x10tly
. 12
b A0 C. 9x10'2y
. 13
A0 D. 9x1013)
90.  The incorrect Maxwell’s 90. e o O DS T ST Gy Tt 2-

thermodynamic relation is-
A A. aTj (avj

aTj (avj P

0S
B.
B.
-
-

: (12,
' ﬁj :(Ej oV v \oT )y
oV )+ \oT)y
> MRt
(2] -(&) (5
oV v \oT)y
91. 2 iEt 91. 2 iEt
If y=Ae" /2. ¢ % is a normalised afz y=Ae X 2. ¢ % T JEHT=IThd
function then the value of A is- T 6o & a1 A &7 919 BIT-
A 1l A1
B.
0 B. 0
C. 1
T 4 C. 1
: 5
D. a a
2 D. a
2
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92.

93.

94.

The Boolean expression
Y=ABCD+ABCD+ABCD+ABCD
reduces to-

A. AB

B. D

C. A

D. AD

A solid cube and a solid sphere both at
the same surface area and made of the
same material are at a temperature of
120°C each. Then-

A. The cube will cool faster than the
sphere

B. The sphere will cool faster than the
cube

C. Both will cool at the same rate

D. Whichever of the two is heavier,
will cool faster

A Planet moves around the sun in an
elliptical orbit, with semi-major axis a
and time period T. T is proportional to-

92.

93.

94.

Y =ABCD+ABCD+ABCD+ABCD
SfcT =Tk i S T TH 81T

B

S >

c o v >
>|

> |
O

Teh 319 59 U Ueh 319 AT 41 Ueh &1 9ered
% 5 T B 3T I o JEI ket A 2
Ife HT % a9 120°C BT -

A. B 3 B T T, 7T sht 3TeT
e gt

B. Tl o &< B ol gF, T shl 37Ut
rferes Bt
C. M g™ X ¥ &< e

D. M1 ° & fS&ert geamm s =i,
IGhT 3 B ohY 9T 37Tk BTt

U € G4 o =R S T STelaiia et o
TR T &, ForeehT 3145 37eF o 37K
T ST T ]1 A T ST 2

A Q82

B. .12

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

202092-YIOV-REC-KTB

Set- A



95.

96.

97.

For a monoatomic gas work-done at 95.

constant pressure is W. The heat
supplied at constant volume for the
same rise in temperature of the gas is-

AW
2

B.
W

w

(@)
N1 N w

D. W

A circular loop of radius a, area A and 96.

resistance R is placed with its plane
normal to the magnetic field
B =Bgsinot. The induced current in

the loop is-

A BoAgin ot B. BoA st
oR oR

C. BpAow —BoAw

sinot D. cos ot

A current | is flowing in a rectangular 97.

loop. It is placed near a long straight
wire as shown in the figure below, then
the loop-

~
>

<.
<

A. Will rotate about an axis parallel to
the wire

B. Will go away from the wire

O

Will remain stationary
D. Will come near the wire

Teh TRHTUT 19 o e e o sl W
21 e S 1rrae o T A gfe & fore e
I 4 T3 ISAT-
AW

2
B. 3y

C.

S vlo v
=

D.

s a, it A S Ife R 10
TMATHRR 9 Feshid &3 B =By sinot %
HTHT T o ETY T T 2] 9 | S am
z-

A. BoA

—sinot B.
oR oR

C. ByAo

sinot D.

Toh STRIATSRR 19 § &I [ YaTfed &1 T 2
0 U el TS TR F T T@ T S fo
At few e fomr 3 feama i @, Rt -

>

| A A

<.

T o THTIAL 377 o i SET
AR H gL e e

feer @

AR ok SR AT ST

o o w >
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98.  The second complement of 1000, is- 98.

A. 0101,
B. 0111,
C. 1000,

D. 10001,

99.  An optical fibre has a core refractive 99.

index of 1.45 and a cladding refractive
index of 1.4. Numerical aperture in air
for fibre is-

A. 21025
B. 1.9600
C. 03774

D. 0.1424

100.  The gravitational field inside a solid 100.

sphere is-
A. Zero
B. Constant

C. Inversely proportional to the
distance from its center

D. Directly proportional to the distance
from its center

1000, T fgefr Fraefifve 2-

A

B.

0101,
0111,
1000,

10001,

Teh AR BTSSR o UTH ShI ST TH
1.45 3R FATET STaTHIF 1.4 T BIEH 6
foTq ga o HeaTenes g (Numerical

aperture) 8-

A

B.

C.

D.

2.1025

1.9600

0.3774

0.1424

T 31 et ok it el & 2r-

A

B.

T

[N

[ERK)

C. 6% 5 U g o FHwTgaTd!

. 3% HE W T o STFHAIFATA
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101.

102.

A point charge Q is placed at the centre
of a dielectric spherical shell of inner
and outer radii R1 and R2. The

polarization in the material is given by
- —
P =cEg, where c is a constant and E,

is the field due to the point charge. The
dielectric will have-

A. asurface charge density at the outer
surface but not on the inner surface

B. asurface charge density at the inner
surface but not on the outer surface

C. asurface charge density at each of
the two surfaces

D. no surface charge density at any of
the surfaces.

A particle is moving in an inverse
square field. If the total energy of the
particle is positive, then the trajectory of
particle is-

A. Circular
B. Elliptical
C. Parabolic

D. Hyperbolic

101.

102.

eh feig a9 Q I, R1 37 R2 AT
HI AT BT 3 U Tagd AR @i
o, g 1 T@T T 8| HTEHH H gl

%

P = CE, g fRan T d, wiet ¢ Rom d ot
E,, Toig 3TTa%1 o 10T &5 8 A1 Taga
geref H-

A. TR I8 T I STeT S Tl
HTAN Fe T Tl

B. 3Tk 9ag W IS ST O olfoh
Sredl wde 9T T

C. 3 gagl T I8 SATaT e

D. fret +ff Hag A I8 ST B T

Tk 0T ScshH TTeRL &35 H Tfer ot T 2
TS 0T 6T A ot AT &, AT H0T
& 79 2-

A. FhE
B. dH JamR

C. UdeTaehiT

D. Afdacaer
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103.  The mod number of the asynchronous 103. o=y o i T URShIE e i Hig

counter shown in figure is- AT B-
J J Qi
S 1A 11 G 1 PR 1 ENEEVEIER
K CLR K CLR K CLR K CLR K CLR > > > > >
] ] K(iLR K CLR K CLR K CLR KC]LR
AllJK input are HIGH . !
_|-|_|-|_ AllJK input are HIGH I—
JUL
A. 24 A 24
B. 48
B. 48
C. 30
D 36 C. 30
D. 36

104. A grating has 4000 lines per cm. Then 104.  ush FET I 4000 T@Td g oft 7| o 309

the maximum wavelength measurable iR Fted R e S o S
by this grating will be-

A. 25000 A A. 25000 A

B. 30000 A B. 30000 A

C. 35000 A C. 35000 A

D. 40000 A D. 40000 A

105.  An o -particle is moving with velocity 105w o -3 3i 42§ T e T &

5x10°im/s ina magnetic field of 5x10%i m /s 3T I @I FH W FH
intensity 3i +2jT . The force acting on e b
the particle will be-

A. 132

B. 137
B. 32x103k N 3:2x1077kN

C. ~12¢,
C. 52x1012kN 52x10kN
D. -13%
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106.  Kirchhoff’s current and voltage laws
respectively represent-
A. Conservation of linear momentum
and angular momentum
B. Conservation of charge and energy
C. Conservation of mass and energy
D. Conservation of charge and linear
momentum
107. A p-n diode is in reversed biased. The
resistance measured by an ohm-meter
connected across it will be-
A. Zero
B. Low
C. High
D. Infinite
108.  The output voltage for the summing
amplifier shown in figure is-
Re
Ry
Vin, = 0.2V —AWW—
INy 1.0kO 10kQ
R —°Vour
2
Vin, =0.5V—\WW—
1.0kQ
A TV
B. -7V
C. 5V
D. -5V
109.  Total internal reflection is not possible

in the case when light travels from-
A. glass to air

B. glass to water

C. water to glass

D. water to air

106.

107.

108.

109.

foRtiTeh ok (e (ST TR Aleest
SHEST: Ufdi-Teree shid -

A. Rask mifa 7T sRivfi e a1 weeqor
B. STAY 3T il T TLET0T

C. SoIUT 37 Sl T T

D. TS 37T YRk T AT TRE0T

T p-n SRS gy ANATT H 21 30 Uit
3TTgH Hiet S T AT T iy ERT-

A I

[N

B. %A
C. SI€
D. 9

o & qwifa T wfE wroeteRr & foe
HHTIE AT &-

R1
Ving =02V —AM—
1.0kQ
R>
Vin, =0.5V—\WW—
1.0kQ

Re

10kQ

— °Vour

Vv
-7V
5V
-5V

Cow>»

T 2-

A. FFTTEITH
B. #TUSAH
C. Sau®HaY
D. SAAgaTH
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110.

111.

112.

113.

A piece of stone tied at one end of a 110.

string is whirled around a stick in a
circle, such that the string winds itself
on the stick. The quantity that remains
conserved is-

A. Only linear momentum

B. Only angular momentum
C. Only Kinetic Energy
D

. Both the linear momentum and
Kinetic energy

The direction of the gradient of a scalar 111.

field V gives the direction in which-
A. V increases at the highest rate
B. V decreases at the highest rate

C. V remains constant for small
distances

D. V changes its sign

An electron is accelerated through a 112.

150V potential difference. The
maximum uncertainty in its position will
be-

A. 1A
B. 1.05x1073m
C. 6.6x10"3*m

D. 6.6x107%%m

Wattless current means- 113.

A. Current is zero

B. The average power consumed in a
cycle is zero

C. e.m.f. is zero

D. Phase difference between the
current and potential difference is
zero

TEHT o Weh BT T S8 Yoo o Teh ZoheT bl
T B o A SARH 39 qLE GHTT ST 8,
fob Teeft Bt qT €l foruedt SiTe) g sk
TR T ATt TiRT B

A. bt gar

B. fad i @

C. Fiah ot =it

D. &t Hant 3R Tifast St 1 &

T AT & V T gaorar i fewm = e
2 forem-

A. VI=dq WY Fedr e

B. VIsada XA g
C. VB & fo Rem wwar 8
D. vufEfdqagars

T SAFLH T 150 alee faveT | wfia
foRaIT STTAT 81 Soidrer shi Reuf 7 SAferehaw
ffarear grfi-

1A
1.05x10~34 et

6.6x1073* et

6.6 %1024 fiex

o o w>

Sffecre o T 379 2-
A GUITAT

B. T =3k H @ ol 715 3714 ek I
gl &

C. fHarsaH A I &
D. o 3R forvraiat % sff=r shretiat = 2
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114.

115.

From the surface of a blackbody at 114.

temperature 127°C, the energy is

emitted at a rate of 1.0x10°Wm ™2,
At what temperature will it emit the

energy at a rate of 16.0x10°Wm™2.
A. 527°C
B. 427°C
C. 400°C
D. 373°C

Match List I (Material) with List 11 115.

(Classification) and select the correct
answer using the codes given below the
lists.

List |
(Material)
a) Silicon doped

List 11

(Classification)

1) Insulator
with arsenic

b) Pure germanium  2) p-type semi-
at low temperature  conductor

c) Silicon doped 3) n-type semi-

with gallium conductor
d) Extrinsic silicon 4) Metal
5) Semi-
conductor
A. a-3,b-2,c-4,d-5
B. a-5, b-2,c-4,d-3
C. a3,b-1,¢c-2,d-5
D. a-5,b-1,c-2,d-3

127°C |19 =Tt SHitoreht % qef & 1.0x10°
are et > i T Frlt T IeesH BT TR
FHIUUTHT T 98 1Y 1578 T 30H Scdsid ohi

0 16.0x10° A et 2 -
527°C
427°C
400°C

o o w >

373°C

=t 1 (aTel) o | gl 11 (Srfietor) et
gifera e o A= e o g e &
4 Tl I MY

=t 1 (el T 11 (e
a) 3TTEME AT 1) FaTAH
BT ffeter
b) AU ™
3[Eq ST
¢) Aferm e 3) n-orgw aHfiehed
gar fafers
d) =mer fafereh 4) e
5) T

a-3, b-2, c-4, d-5

2) p-IrEY THfidhgaeT

a-5, b-2, c-4, d-3

a-3, b-1, c-2, d-5

S o w >

a-b, b-1, c-2, d-3
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116.

The expression for the electric field of a 116.

linear charge distribution is-

E’ _ M) x(r=r)adr

4m e |r— r’3

Which one is correct?

A. A(r') isavector and dl is a scalar
B. A(r') and dlI' both are vectors
C. A(r') isascalarand dlI is a vector

D. A(r') and dlI' both are scalars

ForEft Xk SATareT foraxeT o forea & 1
ST -

2 _ MO =) dr

4m g |I’— r’|3

T I T g 82

A. A(r') T afewr & SefR dI' T st
B. A(r) @ur dI' ST drafewr

C. A(r') U fewr & Siaifeh dI’ Teh afaer
D. A(r) qer dI’ i & sifewr &

117.  Double convex lenses are to be 117, 1.55 3YaqHihdT e § Teh SHAA aF
manufactures from a glass of refractive (double convex lens) ST T =, STelfeh
index 1.55, with both faces having the ST FeTehl ShT SIshdT T Uk g0 21 Ife
same radius of curvature. The radius of S < BreRE < 20 AT B O 3HF fu
curvature required if the focal length of WW%F&T@TH
the lens is to be 20 cm.

A. 113t
A. 1lcm
B 22em B. 22&
C. 33em C. 33 @t
D. 55cm D. 55@Ht

118.  Excess pressure inside a spherical liquid ~ 118. g @ T 3K 5= R % T MR 58 &
drop of surface tension T and radius R 3T Afafer e/ Bi-
is-

A. TR A TIR
B. 2T/R B. 2TIR
C. 4TR C. 4TIR
D. 2xT/R D. 2nT/R
SPACE FOR ROUGH WORK / T% &t & forr sre
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119.

120.

Two identical water drops fall in air

with the terminal velocity of 5msL. If
these drops combine to form a single
drop, what will be the new terminal
velocity?

A. 564mst
B. 10.92ms™!
C. 25ms?

D. 794ms!

The number of turns in the primary and
secondary coils in a transformer are
respectively N; and N,. The resistance
of secondary circuit is R, . Equivalent

load resistance from the point of view of
primary circuit is-

119.

120.

3 | T T S 5ms ™! % dmid T &
ga # Tt 21 afe 3 o2 forerent weh ofg st
<, a1 =T EiHid ST =T Y

A 564ms

B. 10.92ms?

C. 25ms?

D. 794ms?

T ZiaoT 7 et 31 faetees defert
o forfe ot dean s Ny 3R N, 2
feefrres aftwer s i@ @ R, , wroifies
afewrer 1 gfY & Toger wR wfry 2-

A. 2
N
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121.  Consider a charged cylindrical capacitor ~ 121.  Yfigsh Wragd & W Teh ARG SeHTHR
_)
filled with a linear dielectric. D denotes Ui X famm ) B T Aget Y
the displacement vector. Everywhere 29T ) e o 3iet gt Se-
inside the capacitor-
> (@) D [ AT
(@) D iszero
%
=g (b) V-D = &R
(b) V-D is zero
_)
=g VxD 3=
(c) VxD iszero (c) V> o &
(d) D is uniform @D
A. aand b both A. aTATb
B. band ¢ both B. bl caHl
C. candd both C. caudaml
D. aand d both D. a@TdaMi
122.  The angle between two plane mirrors is 122. 2y oHdet gUUT o sl 19T O B| Teh YehraT
0. A light ray incident on one mirror at f3FoT weh o UX Uek SRI0T T Sl ardt &
an ang_le is made parallel to itself after oI BT 2SO & T 3 97 IR o a1
reflection from both the mirrors. The
value of angle © is- & HHMATL ST T hI0 § T A1 8-
A. 45° A. 45°
B. 90° B. 90°
C. 120° C. 120°
D. 180°
D. 180°
SPACE FOR ROUGH WORK / T @t % forar e
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123.

124.

125.

According to quantum mechanics the
maximum probable distance of an
electron of hydrogen atom in 1s state
from its nucleus is-

(ag is radius of Bohr’s first orbit)

A. §a

590

B. ag
2

C. a

D. Infinite

A series circuit contains two pure
components. The current flowing in
circuit and the applied e.m.f. are
respectively-

I =13.43sin (500t —53.4°)amp

E =150sin (500t +10°) volt

The two components of the circuit are-
A. Resistance and capacitor

B. Inductance and capacitance

C. Resistance and inductance

D. Only two resistance

What must be input in the given circuit

to get output one?

Ae—gz

B‘—A:>+ _l_
C ] >—v
A _|

] >
110
101

100
010

o0 W

123.

124.

125.

FaleH AT(-=1eh! o HTEN 15 e H
BTFISIH JTHTY] o ST hi A4 §
Afeream wTRish gl Bl 2-

(2o ST hT Tom ey h Brsam 1)

A. Ea
540
B. ag

2
C. ag

D. 3=

fereft 2roft aftaer a1 315 Freeh 81 aftwer §
e JTeft 9RT 3T AT farvgar=ar st
SHUST: ©:

| =13.43sin (500t —53.4°) amp

E =150sin (500t +10°) volt
qfeaer o a1 ¥k Bhl-

A. fcrer 3T denfor
B. Ihcd T et
C. ufcrer it Seheat
D. haet & yferrer

e e aftger # sTTeheqe T & 36 for
$TI T BT <I1fe-

Ae—;

B-—D—>—
o
5>

110

101

100
010

Cow>»
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SET-A

I TR oL T 0T : 3ge AfereRa™ 3k : 200
Time for making answers : 3 Hours Maximum Marks : 200
e
1. 38 o qRaent § feT v g -
1) WH JAH - 50 37— 1-50 I
(TTe3eh T2T 01 31k T BRT)
(2) e s - wdifaeRT s - 150 3tk — 51-125 91
(I T2 02 31k hT ERT)
st w2r o rfE R

2. g % I, €1 T OMR 3Uite (errersiie) W sifera i |

3. T IR 3ifeRd o W ST B e o Tore Frarifia aies w1 U4 aiek wrer @M

4. Tordlt oft T8 o FeTHeIed a1 A e U HITSel Wi ol T I & |

5.  OMR STRNE (ATATIIIE) T TANT hTd THT VHT g SFTTATTUT T hi/awd o a8 e S 2
3ud A At Rrerae onfe ug e o wertasy 9 Ta 8 I |

Note :

1. This Question Paper consists of Parts namely :-

(1) General Knowledge - 50 Marks - 1-50 Question
(Each Question would carry 01 marks)
(2) Subject Knowledge — Physics - 150 Marks — 51-125 Question

(Each Question would carry 02 marks)
All questions are compulsory.

2. Indicate your answers on the OMR Answer-Sheet provided.

3. Y mark of total marks allotted for that question will be deducted for each wrong
answer.

4. Use of any type of calculator or log table and mobile phone is prohibited.

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.

202092-YIOV-REC-KTB 40 Set-A



